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1. �����	
��
���	���	������������������������� � 6 "��	 �������������#����$ 4 "��	 &����$' (����)����� 


���*�������	
��+*���,�#�$���"-���")�.�� 1 -/ � ����0��1�+(���&��&1���� 453 �,)+��$/�� ��(�����,�#��� ������� 
����� ����"��	 (4 �
+��)
������� ��$	�����*�����&��0(��� ����/0(� y ����������*���,�#�&���,$������ 

���	�� �
.$���� DX
AD = tan 45° +�$���� AD  =  DX  =  y 

 0-�&>?@�)&*���A&���	,�$,��� 
AD2 + DX2 = AX2

y2 + y2 = 42 = 16 
 y2 = 8

y = 2 2
≈ 2(1.415)   ≈ 2.830 

 "�	�
G
�, ��,�#������������� �"&���,) 2.830 + 6  =  8.830 "��	 �
� 

4 "��	

6 "��	
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2. $��>�?I$��(������$��"�	�
(I$��(����"�J�)	/��	 $��"�	�
(I$,����������).����$*����
��	"&���,) 
12 x 1011 �/
�"��	 ��)*����	
��	0�����$"&���,) 5 x 1011 �/
�"��	 ��(�����	*����	
��	*��$�� 
"�	�
(I$���� (����/$��>�?I����$L���I��������&����$�1�"�/$0�	
))�/�,$G��+�
.�������/$"&��*��"�*�� 
�1��,�����/)) (4 �
+��)
������� ���������
����&	�)���������	
��		�)$��>�?I*��$��"�	�
(I����0(M����,�?N
�������	� 

������
��0���	�1���N"�J�+))��	� ���*�����&���1�(�$0(��
.$����	
�
�	���+��"������� 
"&���,) 6  �,����� a2 = 36  +�
	
�
�	���+��
&"&���,) 2.5  �,����� b2 = 6.25 

 $,��, �����	��	�&��0-��P/)����	
��	*��$��"�	�
(I$���� ��� 36
2x + 25.6

2y = 1 �
� 

3. ��(�����	*����	�������+��"�����"&���,)+�����*��� +��
&���"&���,)+���,���� +�
��$L���I���� 
	����,�*��.Q"��	I
)�� 9x2 S 16y2 S 36x S 32y S 124  =  0 (4 �
+��)
������� ���������������,$	��*������	.Q"��	I
)��0(�� �
.$����

(9x2 S 36x) S (16y2 + 32y) S 124   =  0 
 9(x2 S 4x + 4) S 16(y2 + 2y + 1) S 124 S 36 + 16  =  0 
 9(x S 2)2 S 16(y + 1)2 = 144 
 �1� 144 (�	���$&, �����	 �
.$� 

16
2)2x( − S 9

2)1y( + = 1 - - - - - - - - - -�
����	 � "�J�����	.Q"��	I
)��&������$L���I����&�� C(2, S1) 

 +�����*������"&���,) 8 (���� +�
+���,�������"&���,) 6 (���� 

"�	�
G
�, �����	��	�&��������	��� 16
2)2x( − + 9

2)1y( + = 1
9(x S 2)2 + 16(y + 1)2 = 1
9(x2 S 4x + 4) + 16(y2 + 2y + 1)   =   144 

 9x2 S 36x + 36 + 16y2 + 32y + 16 S 144  =  0 
 9x2 + 16y2 S 36x + 32y S 92   =   0 �
� 

4. ��(���$�,$+�� X *���	�W x2 S y2 = x S y (4 �
+��)
������� "�������� x2 S y2 = x S y

(x S y)(x + y) =   x S y
$,��, � (x + y)  =   1 

 ����"�J�����	*���	�W"����	� ����$�,$+�� X &����$ (1, 0) �
� 



5. .Q"��	I
)�� xy  =  - 2   �,$�	�W*������	 x2 + y2 = 4 &����$0$)��� (4 �
+��)
������� �������	 xy  =  S 2 �
.$���� y = S x

2 �1�.�+&����0�����	������
.$� 

x2 + (S x
2 )2 = 4

x4 S 4x2 + 4 = 0
(x2 S 2)2 = 0

x2 = 2
x = ± 2

+&���� x = 2 +�
 x = S 2 0�����	����� �
.$� 
2 + y2 = 4

y2 = 2
y = ± 2

.$�����,�$,) ( 2 , 2 ), ( 2 ,S 2 ), (S 2 S 2 ), (S 2 , 2 ) +�������	�	����)�
 
�)�����"��������,�$,) ( 2 ,S 2 ) +�
 (S 2 , 2 ) &��&1�0(�	
))����	$,������"�J��	/�
"�	�
G
�, �.Q"��	I
)��&���1�(�$0(��,$�	�W*������	�����&, �(�$ 2 ��$$,��� 
( 2 ,S 2 ), (S 2 , 2 ) �
� 

6. ���$��"&���	��
�����	�
)�����,��
&����,MM�N����������������$����,)*�����"&���,) 3 "��	 ��(� 
���������*�����$��"&���&����$��������0�	
��)"$����,)�,��
&����,MM�N (����/������$��"&�������$ 
��$&����$ (0, 0))  (4 �
+��)
������� ��$	���	���' .$�$,��� 

����	*����	�
)���� ��� 12y  =  x2 +�
��
W�,�&����$ (0, 3)  ���������*�����$��"&���&����$
��������0�	
��)"$����,)�,��
&����,MM�N ��� ���,�"	��,�*����	�
)��������������� 4 |c| 

 = 4 (| 3|)   =   12  "��	 �
� 

3 "��	

(0, 0) 



7. ��(��� �&��*����	���������$ F1(S 1, 4)  +�
��$ F2(5, 4)  "�J���$
W�,� +�
��+��"����� 8 (���� (6 �
+��)
������� �,�"�����"����	� F1 F2 ����0�+��&��*����,)+�� X +�$����+��"��*����	�����*����,)+�� X 

 ��� h + c = 5 - - - - - - - - - -�
+�
 h S c = S1 - - - - - - - - - -�
�1�� + � 2h =   4 

 h = 2
c = 5 S 2 = 3

��������,��,�PI a2 = b2 + c2

b2 = a2 S c2

= (4 S 3)(4 + 3) 
 = 7

"�	�
G
�, � b = 7
$,��, � �� �&��*����	�&��������	��� πab   =   4π 7 �
� 

8. ����� C1: x2 + y2 + 2x S 12y + 36  =  0  +�
����� C2: x2 + y2 S 6x S 6y + 14  =  0 
 1)   ��(�	
�
	
(������$L���I����*�������&, ���� (5 �
+��)

2)   #�����"����	� L1 �����$L���I����*�� C1 ��.��,$+�
�, �G���,)+�� X &����$ P +�
���"����	� L2

�����$L���I����*�� C2 ��.��,$+�
�, �G���,)+�� X &����$ Q ��(��� �&��*��	�����"(����� PC1C2Q
(15 �
+��)

������� ���������
�����,$	������	*�������&, ����0(��"����0(����������	�1�.�0-� 
x2 + y2 + 2x S 12y + 36 =   0 

 (x2 + 2x + 1) + (y2 S 12y + 36) - 1 S 36 + 36   =   0 
 (x + 1)2 + (y S 6)2 = 1

$,��, � ����� C1 ������	��� (x + 1)2 + (y S 6)2= 1
x2 + y2 S 6x S 6y + 14 =   0 

 (x2 S 6x + 9) + (y2 S 6y + 9) S 9 S 9 + 14   =   0 
 (x S 3)2 + (y S 3)2 = 4

$,��, � ����� C2 ������	��� (x S 3)2+ (y S 3)2= 1

1)   	
�
	
(������$�����$ = 2)2y1y(
2)2x1x( −+−

= 2)36(2)31( −+−−
= 5 (���� �
� 



2)   "��������
�&�I)��������"����	�0(��,$+�
�, �G���,)+�� X �,���������/�,$ x ����.�� 
"������+��� �	��.$������$ P +�
��$ Q &��"	�������	�a��� P(S1, 0)  +�
 Q(3, 0) "�������"��� 
�����$���&��
�&�I�1�(�$�
.$�	�����"(��������(�� 
���	��	(��� �&��	�����"(��������(�� = 2

1 × ������� × (b�)��*���������$������*���)

= 2
1 ×( 2)0(2)31( +−− ) × ( 2)06(2)11( −++− + 2)03(2)33( −+− )

= 2
1 × 4 × (6 + 3) 

 = 2 × 9
= 18  ��	��(���� �
� 


